
1. PREPARE PUMP 2. INSTALL BRACKET

3. INSTALL PUMP (AIRGO)

Bracket not needed for AirGo All Terrain.

3/8 in. Hex Bolt

3/8 in. Flat Washer

Save nuts for pump installation.

Quick Installation Guide
AirGo® Misting System
READ AND SAVE THESE INSTRUCTIONS

3/8 in. Nylock Nut

5/16-18 Nylock Nut



INSTALL PUMP (AIRGO ALL TERRAIN)

WWW.BIGASSFANS.COM     © 2018 DELTA T LLC     ALL RIGHTS RESERVED.

CAUTION: Do not operate misting pump without filter.
CAUTION: Do not plug fan into outlet on misting pump.

OPERATION

Water supply requirements:
15–60 PSI, 140°F (60°C) max

1.	 Turn off fan.
2.	 Plug in misting pump (20 A circuit).
3.	 Turn on water source.
4.	 Press red button on pump filter to purge air.
5.	 Flip Power switch to ON.
6.	 Press Start switch.
7.	 Turn on fan.

To stop misting, flip Power switch to OFF and turn off 
water source.

Power 
Switch

4. CONNECT HOSE 5. CONNECT WATER SOURCE

5/16-18 Nylock Nut

Start 
Switch

Operating Instructions and Maintenance:

bigassfans.com/support

AIG-INST-214-ENG-01   REV A   09/06/18


